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4.   #5@52548B5 2 %� A;54CNI85 25;8G8=K: 
3 :!;   0,9 B;    0,05 :!;    200 3;    60 A</A2. 

КBAFDB?PA4S D45BF4 № 3 CB F9@9 " �4>BAO EBID4A9A<S 6 @9I4A<>9 " 

1 64D<4AF 
1. &5;> <0AA>9 2 :3 ?>4=8<0NB =0 2KA>BC 2 < A8;>9 40 !. +5<C @02=0 @01>B0 MB>9 A8;K?  



10 

 

0).  40 �6          1).  80 �6      2).  120 �6 

2. �0?8H8B5 D>@<C;K 4;O =0E>645=8O :8=5B8G5A:>9 8 ?>B5=F80;L=>9 M=5@388. 
3. "?@545;8B5 <>I=>ABL, :>B>@>9 4>;65= >1;040BL 42830B5;L, GB>1K ?>4=OBL 3@C7 <0AA>9 50 :3 
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4. �48=8F0 87<5@5=8O :8=5B8G5A:>9 M=5@388 

0).   �0BB                        1). �6>C;L                  2)  :8;>3@0<< 
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3.�0: 87<5=8BAO A8;0 2708<>459AB28O 42CE B>G5G=KE 70@O4>2 ?@8 C25;8G5=88 :064>3> 87 =8E 2 
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F5?8, 5A;8 A>?@>B82;5=85 2=5H=59 F5?8 8,5 "<?  

2 64D<4AF 

1.�0:>20 A8;0 B>:0 2  @578AB>@5 A>?@>B82;5=85< 200 "< ?@8 =0?@O65=88 5 �.   
2. $5>AB0B 873>B>2;5= 87 =8:5;8=>2>9 ?@>2>;>:8  4;8=>9 40 < 8 ?;>I04LN ?>?5@5G=>3> A5G5=8O 
0,5 <<2 . !0?@O65=85 =0 7068<0E @5>AB0B0 @02=> 80 �. +5<C @02=0 A8;0 B>:0, ?@>E>4OI53> G5@57 
@5>AB0B? (C45;L=>5 A>?@>B82;5=85 =8:5;8=0 0,4 "<*<<2 /<) 
3. !0?@O65=85 =0 A?8@0;8 ;0<?>G:8  @02=> 3,5 �, A>?@>B82;5=85 A?8@0;8 14 "<. �0:CN @01>BC 
A>25@H05B B>: 2 ;0<?>G:5 70 5 <8=? 
4.-;5:B@>?;8B:0 @0AAG8B0=0 =0 =0?@O65=85 220 � 8 A8;C B>:0 3 �. "?@545;8B5 <>I=>ABL B>:0 2 
M;5:B@>?;8B:5. 
5. �AB>G=8: B>:0 A -�% 60 � 8 2=CB@5==8< A>?@>B82;5=85< 0,05 "< A>548=5=K 0;N<8=852K< 
:015;5< ?;>I04LN 140 <<2 8 4;8=>9 500 < A <>I=K< =03@520B5;5<. %8;0 B>:0 2 F5?8 100 �. 
�0:>2K =0?@O65=8O =0 8AB>G=8:5 8 =03@520B5;5?  

КBAFDB?PA4S D45BF4 № 7 CB F9@9 "�47A<FAB9 CB?9" 

�0@80=B 1 

1."?@545;8BL A8;C, A :>B>@>9 >4=>@>4=>5 <03=8B=>5 ?>;5 459AB2C5B =0 ?@>2>4=8: 4;8=>9 20 A<, 
5A;8 A8;0 B>:0 2 =5< 300 <�, @0A?>;>65==K9 ?>4 C3;>< 45 3@04CA>2   : 25:B>@C <03=8B=>9 
8=4C:F88.   03=8B=0O 8=4C:F8O A>AB02;O5B 0,5 &;. 
2. "?@545;8BL A8;C, 459AB2CNICN =0 70@O4 0,005 �;, 4286CI89AO 2 <03=8B=>< ?>;5 A 8=4C:F859 
0,3 &; A> A:>@>ABLN 200 </A ?>4 C3;>< 45 3@04CA>2 : 25:B>@C <03=8B=>9 8=4C:F88. 
3. "?@545;8B5 <03=8B=K9 ?>B>:, ?@>=87K20NI89 ?;>A:CN ?@O<>C3>;L=CN ?>25@E=>ABL A> 
AB>@>=0<8 25 A< 8 60 A<, 5A;8 <03=8B=0O 8=4C:F8O 2> 2A5E B>G:0E ?>25@E=>AB8 @02=0 1,5 &;, 0 
25:B>@ <03=8B=>9 8=4C:F88 >1@07C5B A =>@<0;LN : MB>9 ?>25@E=>AB8 C3>;, @02=K9: 0) 0, 1) 45 
3@04., 2) 90 3@04.  
 



14 

 

 

�0@80=B 2 

1.  #@>2>4=8: A B>:>< 5 � =0E>48BAO 2 <03=8B=>< ?>;5 A 8=4C:F859 10 &;.  
"?@545;8BL 4;8=C ?@>2>4=8:0, 5A;8 <03=8B=>5 ?>;5 459AB2C5B =0 =53> A A8;>9 20! 8 
?5@?5=48:C;O@=> ?@>2>4=8:C. 
2. �0:>20 A:>@>ABL 70@O65==>3> B5;0, ?5@5<5I0NI53>AO 2 <03=8B=>< ?>;5   A 8=4C:F859 2 &;, 
5A;8 =0 =53> A> AB>@>=K  <03=8B=>3> ?>;O 459AB2C5B A8;032 !. %:>@>ABL 8 <03=8B=>5 ?>;5 
2708<=> ?5@?5=48:C;O@=K. �0@O4 B5;0 @025= 0,5 <�;. 
3. "?@545;8BL <03=8B=K9 ?>B>:, ?@>E>4OI89 G5@57 ?;>I04L 20 :2. A<, >3@0=8G5==CN 70<:=CBK< 
:>=BC@>< 2 >4=>@>4=>< <03=8B=>< ?>;5 A 8=4C:F859 20 <&;, 5A;8   C3>; <564C 25:B>@>< 
<03=8B=>9 8=4C:F88 8 ?;>A:>ABLN :>=BC@0 A>AB02;O5B 30 3@04CA>2.  

КBAFDB?PA4S D45BF4 № 8 CB F9@9 «Э?9>FDB@47A<FA4S <A8G>J<S» 
1 20@80=B 

1. +5<C @02=0 <0:A8<0;L=0O -�%, :>B>@0O <>65B 2>7=8:=CBL ?@8 42865=88 A0<>;5B0 
A> A:>@>ABLN 900 :</G, 5A;8 @07<0E 53> :@K;L52 20 <?  �5@B8:0;L=0O A>AB02;ONI0O 0,04 <&;. 

2. �0:>2> 7=0G5=85 M=5@388 <03=8B=>3> ?>;O :0BCH:8 8=4C:B82=>ABLN 5 �= ?@8 A8;5 
B>:0 2 =59 400 <�? 

3.  03=8B=K9 ?>B>: G5@57 :>=BC@ 70 5 ∙10-2 A  @02=><5@=> C<5=LH8;AO A  10 <�1 4> 0 
<�1.  �0:>2> 7=0G5=85 -�% 2 :>=BC@5 70 MB> 2@5<O?   

4. �0:0O A8;0 B>:0 2 :>=BC@5 8=4C:B82=>ABLN 5 <�= A>7405B <03=8B=K9 ?>B>: 2 · 10 -

2 �1? 
5. -;5:B@>= A M;5:B@8G5A:8< 70@O4>< 1,6·10 ˉ19 �; 2;5B05B A> A:>@>ABLN 105</A 2 

>4=>@>4=>5 <03=8B=>5 ?>;5 A 8=4C:F859 2,5 &; ?5@?5=48:C;O@=> ;8=8O< <03=8B=>9 8=4C:F88. 
�KG8A;8BL A8;C, 459AB2CNICN =0 M;5:B@>= (A8;C �>@5=F0)  

2 20@80=B 
1.  �0:>20 M=5@38O <03=8B=>3> ?>;O :0BCH:8 8=4C:B82=>ABLN, @02=>9 2 �=, ?@8 A8;5 

B>:0 2 =59, @02=>9 200 <�?  
2. %0<>;5B ;5B8B A> A:>@>ABLN 900 :</G, <>4C;L 25@B8:0;L=>9 A>AB02;ONI59 25:B>@0 

8=4C:F88 <03=8B=>3> ?>;O �5<;8 4 • 10-5 &;. �0:>20 @07=>ABL ?>B5=F80;>2 <564C :>=F0<8 
:@K;L52 A0<>;5B0, 5A;8 @07<0E :@K;L52 @025= 50 <? 

3.  03=8B=K9 ?>B>: G5@57 :0BCH:C, A>45@60ICN 1000 28B:>2, 70 0,5  A  @02=><5@=> 
C<5=LH8;AO A  10 <�1 4> 0 <�1.  �0:>2> 7=0G5=85 -�% 2 :0BCH:5 70 MB> 2@5<O?   

4. &>: 4 � A>7405B 2 :>=BC@5 <03=8B=K9 ?>B>: 20 <�1. �0:>20 8=4C:B82=>ABL 
:>=BC@0? 

5. +0AB8F0 A M;5:B@8G5A:8< 70@O4>< 1,6·10 ˉ19 �; 42865BAO 2 >4=>@>4=>< <03=8B=>< 
?>;5 A 8=4C:F859 2 &; A> A:>@>ABLN 100 000 :</A, 25:B>@ A:>@>AB8 =0?@02;5= ?>4 C3;>< 30° : 
25:B>@C 8=4C:F88. % :0:>9 A8;>9 <03=8B=>5 ?>;5 459AB2C5B =0 G0AB8FC?  

 4;89? 5. КB?954A<S < 6B?AO 

КBAFDB?PA4S D45BF4 № 9 CB  F9@9: «КB?954A<S» 
1 20@80=B 

�1 . �>;510=85 - MB> 42865=85 B5;0: 
1) 87 ?>;>65=8O @02=>25A8O,                  2) ?> :@82>9 B@05:B>@88 

3) 2 25@B8:0;L=>9 ?;>A:>AB8                  4) >1;040NI55 ?>2B>@O5<>ABLN 2> 2@5<5=8 

�2. #5@8>4 :>;510=8O 3@C70 =0 ?@C68=5 @025= 2 A. +5<C @02=0 G0AB>B0 :>;510=89?  
1) 0,5 �F                       2) 2 �F                   3)  3,14 �F                4) 6,28 �F 

�3. !081>;LH55 >B:;>=5=85 >B ?>;>65=8O @02=>25A8O - MB> 
1) A<5I5=85 B5;0       2) G0AB>B0              3) ?5@8>4                4) 0<?;8BC40 
�4.  �0:>20 A0<0O 2KA>:0O  G0AB>B0 72C:0, A;KH8<>3> G5;>25:><? 
1)  20 �F                    2) 200 �F                3)2000 �F                   4) 20000 �F 

�5. �=D@072C:>2K5 2>;=K - MB> 
1) ?>?5@5G=K5 2>;=K A G0AB>B>9 <5=LH5 20 �F 

2) ?>?5@5G=K5 2>;=K A G0AB>B>9 1>;LH5 20 �F 
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3) ?@>4>;L=K5 2>;=K A G0AB>B>9 <5=LH5 20 �F  

4) ?@>4>;L=K5 2>;=K A G0AB>B>9 1>;LH5 20 �F  

�6. #@8 ?>425H820=88 3@C70 <0AA>9 1 :3 ?@C68=0 C4;8=8;0AL =0 5 A<. �0:>20 <0:A8<0;L=0O 
:8=5B8G5A:0O M=5@38O 3@C70 ?@8 :>;510=8OE A 0<?;8BC4>9 10 A<? 
1)  1�6                      2)  10 �6                 3)  5 �6                  4)   2 �6 

�1. "?@545;8B5 CA:>@5=85 A2>1>4=>3> ?045=8O, 5A;8 <0OB=8: 4;8=>9 80 A< 70 1 <8= A>25@H8; 
34 :>;510=8O. 
�2. &5;> A>25@H05B :>;510=8O 24>;L ?@O<>9 "), 7028A8<>ABL :>>@48=0BK >B 2@5<5=8 
2K@0605BAO D>@<C;>9 x=2cos( ?/3t  +?/2).!09B8 0<?;8BC4C, G0AB>BC, ?5@8>4 8 F8:;8G5A:CN 
G0AB>BC. 
%1.  #5@8>4K :>;510=89 42CE <0B5<0B8G5A:8E <0OB=8:>2 >B=>AOBAO :0: 3/2. �> A:>;L:> @07 
?5@2K9 <0OB=8: 4;8==55 2B>@>3>? 

2 20@80=B 
�1.    �0:  =07K20NBAO :>;510=8O, @0A?@>AB@0=ONI85AO 2 ?@>AB@0=AB25 A B5G5=85< 2@5<5=8?  

1) ?>ABC?0B5;L=K5     2) 2>;=0         3) 25G=>5 42865=85         4) <5E0=8G5A:85 :>;510=8O 
�2.    0;LG8:, :0G0NI89AO =0 :0G5;OE, ?@>E>48B ?>;>65=85 @02=>25A8O 60 @07 2 <8=CBC. �0:>20 
G0AB>B0 :>;510=89? 
1) 60 �F                     2) 0,5 �F                 3) 1 �F                         4) 2 �F 

�3. �0:>20 A0<0O =87:0O G0AB>B0 72C:0, A;KH8<>3> G5;>25:><?  

1)  20 �F                    2) 200 �F                3)2000 �F                   4) 20000 �F 

�4. �0:85 2>;=K =5 >B=>AOBAO : ?>?5@5G=K<?  
1) 72C:>2K5     2) 2>;=K =0 ?>25@E=>AB8 2>4K  3)  2A5 2KH5=0720==K5    4) A25B>2K5 
�5.   #@8 ?>425H820=88 3@C70 <0AA>9 1 :3 ?@C68=0 C4;8=8;0AL =0 10 A<. �0:>20 <0:A8<0;L=0O 
:8=5B8G5A:0O M=5@38O 3@C70 ?@8 :>;510=8OE A 0<?;8BC4>9 20 A<? 
1)  1�6                      2)  10 �6                 3)  5 �6                  4)   2 �6 

�6.  �K=C645==K5 :>;510=8O 2 A8AB5<5 B5; ?@>8AE>4OB: 
1) ?>4 459AB285< 2=CB@5==8E A8; A8AB5<K       
2)  ?> 70:>=C A8=CA0 8 :>A8=CA0 
3) ?>4 459AB285< 2=5H=59 ?5@8>48G5A:>9 A8;K 

 4)  70 AGёB  M=5@388 >B 8AB>G=8:0, :>B>@K9 2E>48B 2 A8AB5<C 

�1. !0948B5 6ёAB:>ABL ?@C68=K, 5A;8 ?@8:@5?;ё==K9 : =59  3@C7 <0AA>9 0,5 :3 A>25@H05B 
:>;510=8O A G0AB>B>9 2,5 �F. 
�2. �>;510B5;L=>5 42865=85 >?8AK205BAO C@02=5=85< x=0,006 cos(?t). "?@545;8B5 0<?;8BC4C 
:>;510=89, F8:;8G5A:CN G0AB>BC, ?5@8>4 8 ;8=59=CN G0AB>BC.  
%1. ,0@8: <0AA>9 0,1 :3 A>25@H05B :>;510=8O =0 ?@C68=5. "?@545;8B5 ?5@8>4 :>;510=89, 5A;8 
4;O C?@C3>3> C4;8=5=8O ?@C68=K =0 1 A< B@51C5BAO A8;0 0,1 !. 

КBAFDB?PA4S D45BF4 № 10 CB F9@9: «ВB?AO» 

1 64D<4AF 
A1. � C@02=5=88 30@<>=8G5A:>3> :>;510=8O q = qmcos(ωt + φ0) 25;8G8=0, AB>OI0O ?>4 7=0:>< 
:>A8=CA0, =07K205BAO 
1) D07>9                                              2) =0G0;L=>9 D07>9 

3) 0<?;8BC4>9 70@O40                       4) F8:;8G5A:>9 G0AB>B>9 

А2. !0 @8AC=:5 ?>:070= 3@0D8: 7028A8<>AB8 A8;K B>:0 2 <5B0;;8G5A:>< ?@>2>4=8:5 >B 2@5<5=8. 
"?@545;8B5 G0AB>BC :>;510=89 B>:0. 

 
1) 8 �F               2) 0,125 �F                          3) 6 �F                4) 4 �F 

А3. �0: 87<5=8BAO ?5@8>4 A>1AB25==KE M;5:B@><03=8B=KE :>;510=89 2 :>=BC@5, 5A;8 
:;NG К ?5@525AB8 87 ?>;>65=8O 1 2 ?>;>65=85 2?  
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1) '<5=LH8BAO 2 2 @070                        2) '25;8G8BAO 2 2 @070 
3) '<5=LH8BAO 2 4 @070                        4) '25;8G8BAO 2 4 @070 
А4. #> CG0AB:C F5?8 A A>?@>B82;5=85< R B5GёB ?5@5<5==K9 B>:, <5=ONI89AO ?> 
30@<>=8G5A:><C 70:>=C. � =5:>B>@K9 <><5=B 2@5<5=8 459AB2CNI55 7=0G5=85 =0?@O65=8O =0 
MB>< CG0AB:5 C<5=LH8;8 2 2 @070, 0 53> A>?@>B82;5=85 C<5=LH8;8 2 4 @070. #@8 MB>< <>I=>ABL 
B>:0 
1) C<5=LH8BAO 2 4 @070                       2) C<5=LH8BAO 2 8 @07 
3) =5 87<5=8BAO                                   4) C25;8G8BAO 2 2 @070 
А5. %8;0 B>:0 2 ?5@28G=>9 >1<>B:5 B@0=AD>@<0B>@0 0,5 �, =0?@O65=85 =0 5ё :>=F0E 220 �. %8;0 
B>:0 2> 2B>@8G=>9 >1<>B:5 11 �, =0?@O65=85 =0 5ё :>=F0E 9,5 �. "?@545;8B5 �#� 
B@0=AD>@<0B>@0. 
1) 105 %             2) 95 %                  3) 85 %              4) 80 % 

В1. � B01;8F5 ?>:070=>, :0: 87<5=O;AO 70@O4 :>=45=A0B>@0 2 :>;510B5;L=>< :>=BC@5 A B5G5=85< 
2@5<5=8. 
t, 10-6 A 0 1 2 3 4 5 6 7 8 9 

q, 10-6 �; 2 1,42 0 -1,42 -2 -1,42 0 1,42 2 1,42 

�KG8A;8B5 ё<:>ABL :>=45=A0B>@0 2 :>=BC@5, 5A;8 8=4C:B82=>ABL :0BCH:8 @02=0 32 <�=. "B25B 
2K@078B5 2 ?8:>D0@040E 8 >:@C3;8B5 4> 45AOBKE. 
В2. �>;510B5;L=K9 :>=BC@ @048>?5@540BG8:0 A>45@68B :>=45=A0B>@ ё<:>ABLN 0,1 =( 8 :0BCH:C 
8=4C:B82=>ABLN 1 <:�=. !0 :0:>9 4;8=5 2>;=K @01>B05B @048>?5@540BG8:? %:>@>ABL 
@0A?@>AB@0=5=8O M;5:B@><03=8B=KE 2>;= E = 3 ·  108 </A. "B25B >:@C3;8B5 4> F5;KE. 
C1. "?@545;8B5 ?5@8>4 M;5:B@><03=8B=KE :>;510=89 2 :>;510B5;L=>< :>=BC@5, 5A;8 0<?;8BC40 
A8;K B>:0 @02=0 Im, 0 0<?;8BC40 M;5:B@8G5A:>3> 70@O40 =0 ?;0AB8=0E :>=45=A0B>@0 qm. 

2 64D<4AF 
A1. � C@02=5=88 30@<>=8G5A:>3> :>;510=8O i = Imcos(ωt + φ0) 25;8G8=0 ω =07K205BAO 
1) D07>9                                                     2) =0G0;L=>9 D07>9 

3) 0<?;8BC4>9 A8;K B>:0                        4) F8:;8G5A:>9 G0AB>B>9 

А2. !0 @8AC=:5 ?>:070= 3@0D8: 7028A8<>AB8 A8;K B>:0 2 <5B0;;8G5A:>< ?@>2>4=8:5 >B 2@5<5=8. 
"?@545;8B5 0<?;8BC4C :>;510=89 B>:0. 

 
1) 0,4 �               2) 0,2 �                 3) 0,25 �                   4) 4 � 

А3. �0: 87<5=8BAO G0AB>B0 A>1AB25==KE M;5:B@><03=8B=KE :>;510=89 2 :>=BC@5, 5A;8 
:;NG К ?5@525AB8 87 ?>;>65=8O 1 2 ?>;>65=85 2? 

 
1) '<5=LH8BAO 2 4 @070                                   2) '25;8G8BAO 2 4 @070 
3) '<5=LH8BAO 2 2 @070                                   4) '25;8G8BAO 2 2 @070 
А4. #> CG0AB:C F5?8 A A>?@>B82;5=85< R B5GёB ?5@5<5==K9 B>:, <5=ONI89AO ?> 
30@<>=8G5A:><C 70:>=C. � =5:>B>@K9 <><5=B 2@5<5=8 459AB2CNI55 7=0G5=85 =0?@O65=8O =0 
MB>< CG0AB:5 C25;8G8;8 2 2 @070, 0 A>?@>B82;5=85 CG0AB:0 C<5=LH8;8 2 4 @070. #@8 MB>< 
<>I=>ABL B>:0 
1) =5 87<5=8;0AL                                                 2) 2>7@>A;0 2 16 @07 
3) 2>7@>A;0 2 4 @070                                             4) C<5=LH8;0AL 2 2 @070 
А5. !0?@O65=85 =0 :>=F0E ?5@28G=>9 >1<>B:8 B@0=AD>@<0B>@0 110 �, A8;0 B>:0 2 =59 0,1 �. 
!0?@O65=85 =0 :>=F0E 2B>@8G=>9 >1<>B:8 220 �, A8;0 B>:0 2 =59 0,04 �. +5<C @025= �#� 
B@0=AD>@<0B>@0? 
1) 120 %                      2) 93 %               3) 80 %                 4) 67 % 

B1. !0?@O65=85 =0 :>=45=A0B>@5 2 F5?8 ?5@5<5==>3> B>:0 <5=O5BAO A F8:;8G5A:>9 G0AB>B>9 ω = 
4000 A-1. �<?;8BC40 :>;510=89 =0?@O65=8O 8 A8;K B>:0 @02=K A>>B25BAB25==> Um = 200 � 8 Im = 

4 �. !0948B5 ё<:>ABL :>=45=A0B>@0. 
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В2. !0948B5 <8=8<0;L=CN 4;8=C 2>;=K, :>B>@CN <>65B ?@8=OBL ?@8ё<=8:, 5A;8 ё<:>ABL 
:>=45=A0B>@0 2 53> :>;510B5;L=>< :>=BC@5 <>6=> ?;02=> 87<5=OBL >B 200 ?( 4> 1800 ?(, 0 
8=4C:B82=>ABL :0BCH:8 ?>AB>O==0 8 @02=0 60 <:�=. %:>@>ABL @0A?@>AB@0=5=8O 
M;5:B@><03=8B=KE 2>;= E = 3 ·  108 </A. 
C1. � ?@>F5AA5 :>;510=89 2 8450;L=>< :>;510B5;L=>< :>=BC@5 2 <><5=B 2@5<5=8  t 70@O4 
:>=45=A0B>@0 q = 4 ·  10-9 �;, 0 A8;0 M;5:B@8G5A:>3> B>:0 2 :0BCH:5 @02=0 I = 3 <�. #5@8>4 
:>;510=89 Т = 6,28 ·  10-6 A. !0948B5 0<?;8BC4C :>;510=89 70@O40. 
3 64D<4AF 
A1. � C@02=5=88 30@<>=8G5A:>3> :>;510=8O u = Umsin(ωt + φ0) 25;8G8=0 Um =07K205BAO 
1) D07>9                                                          2) =0G0;L=>9 D07>9 

3) 0<?;8BC4>9 =0?@O65=8O                          4) F8:;8G5A:>9 G0AB>B>9 

А2. !0 @8AC=:5 ?@54AB02;5=0 7028A8<>ABL A8;K B>:0 2 <5B0;;8G5A:>< ?@>2>4=8:5 >B 2@5<5=8.  

 
+0AB>B0 :>;510=89 B>:0 @02=0 
1) 0,12 �F                   2) 0,25 �F                        3) 0,5 �F                   4) 4 �F 

А3. !0 @8AC=:5 ?@8254ё= 3@0D8: 7028A8<>AB8 A8;K B>:0 >B 2@5<5=8 2 :>;510B5;L=>< :>=BC@5 
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